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Instructions for Candidates

1. Write your Roll. No. on the top immediately on receipt

of this question paper.

2. This question paper contains eight questions. Attempt

any five.

3. All questions carry equal marks.
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4. Answer may be written either in English or Hindi; but

the same medium should be used throughout the

paper.
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1:  “Adam Smith viewed the invisible hand as maximizing
total income for a society which is associated with
the social objective of efficiency”. Explain the

statement. (18)
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(b) Explain the alternative ways of representing the

budgetary position of the government. ®)
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Write short note on:

(a) Fiscal Policy statements

(b) Free rider problem

(c) Intertemporal budget constraint
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(b) How different objectives of general and specific
purpose transfers rationalize the need for
intergovernmental transfers in a developing

country? )
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7. (a) Illustrate the efficiency loss caused by the
moral hazard effects of cash welfare

system )

1839 3

‘e Ry A sgmm T W wW w R e @ W
Flererem A D T N I@ W TEA ® IS I A

T G 27| HIAT A AR DG

2. Distinguish between public goods and private goods.

Also, explain public and private provision of public

goods and the right mix of the same. (18)
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3. (a) Explain the reasons of employers being the

predominant source of insurance. (10)

(b) What is the difference between a conditional and

unconditional grant? )
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4. (a) Discuss with the help of a diagram, the gains and
losses to the society from moving from a socially
inefficient level of output to a socially efficient
level of output in the presence of negative
externality. Is zero level of externality socially

desirable? ®

(b) What are the advantages and disadvantages of a
decentralized system to achieve optimal fiscal

federalism? &)
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Explain if the competitive market equilibrium is the
most efficient outcome for society, why and how do
governments intervene in the operation of some of

these markets? (18)
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(a) Explain the various grants that will be provided

from the Centre’s resources over the 2021-2026

period. 9
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